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Present simple or continuous: wear

Fill in the gaps with the correct form of wear:

1. You a jacket today and you always a jacketin
winter.

2. They a tracksuit because they always a
tracksuit to school.

3. She rarely headphones, but she them now.

4. | normally a coat in winter, but | a coat today.

5. He sometimes flip-flops in summer, but he

them at the moment.
Fill in the gaps with but, either, also, too:

6. | always wear shoes to school, today | am wearing
trainers.
7. | usually wear gloves in winter and | am wearing gloves today

8. lusually wear earrings, today | am wearing a hairband.
9. | rarely wear green socks and | am not wearing them today

10. | usually wear a uniform to school and | am wearing a
uniform today.

Copyright©AbbeyRoad www.intercambioidiomasonline.com



http://www.intercambioidiomasonline.com/

Answers:

Fill in the gaps with the correct form of wear:

1. You are wearing a jacket today and you always wear a jacket in
winter.

2. They are wearing a tracksuit because they always wear a
tracksuit to school.

3. She rarely wears headphones, but she is wearing them now.

4. | normally wear a coat in winter, but | am not wearing a coat
today.

5. He sometimes wears flip-flops in summer, but he is not wearing
them at the moment.

Fill in the gaps with but, either, also, too:

6. | always wear shoes to school, but today | am wearing trainers.

7. lusually wear gloves in winter and | am wearing gloves today too.

8. lusually wear earrings, but today | am wearing a hairband.

9. I rarely wear green socks and | am not wearing them today either.

10. | usually wear a uniform to school and | am also wearing a
uniform today.
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